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Which of the following is a solution for 9x — 6 = —3x —2? Which of the following is a solution for —2x —4 = —5x+0? .m.
a = o. 1 a 2 0. 2 3
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Which of the following has W as a solution? Which of the following has m as a solution?
a. Ix+2=-6x+4 c. 3x+2=-8+5 a. 9% —-8=-4x+5 c. W—T=-4x+5
b. 3x+2=—6x+5 d. 3x+1=—8+5 b. 1lx—8=—6x+4 d 9x—8=—6x+5
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Which of the following has |W as a solution?
a. 6x=0x-3+10 c. bx=-2x-3-9
b. 6x=0x—3-9 d. 4x=-2%x-2-9

Which of the following has W as a solution?
a —S9x=-1lx-1+10 c. Xx=-3x-1-9
b. Ox=-1x-1-9 d —Tx=-3x+0-9
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Which of the following is a solution for 9x+3 + 6x = —9x+7?
S
24

5
b. 57 d.

a. C.

N~ |

Which of the following is a solution for 4x+1—7x = 6x—5?

a. C.

b. d.

Ot Wb
Ol |
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Which of the following has |$ as a solution?
a —Tx—-6-Tx=-3x+6 c. 8&x—-6
b. Tx—6—-8=-3x+6 d —8x—7
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Which of the following has W as a solution?

a. —8&+1-Tx=6x-38 c. 8x+1-8x=6r—-8
b. Tx+2-8x=6x—28 d —Tx+1-8x=8—38
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Which of the following has L as a solution?

a. —8r+1

15

S5x+ 8+ 8x c. 8x+2=-3x+8+%
b. O9%+1=-3x+8+0x d -9%+1=-3x+8+8x
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Which of the following has |% as a solution?
a Sx+9=4—-4-7x c. Tx+9=6x—4—-8x
b. 8&+10=6x—4—8 d Tx+9=6x—4-7x
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